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1 After melting tour metallic spheres of diameter 15 cm in a factory, wire of diameter of the cross-
section ot 0.2 cm was drawn. What would be the length of wire so obtained?

ot wE™ o 15 cm =30 T 9} anfeaes el @1 Eeest 0.2 cm g G % = 1 T a8 AT 4|

AT T T 1Y ] WIS @] Bl
(A) 1,950 m (B) 2,040 m
(C) 2,170 m (D) 2.250m

(E) Question not attempted / STARE AT

2 Nine years ago, father was nine times as old as his son and ten years hence, he will be two years
more than twice the age of his son then. What are their present-ages?

(A) Father=32yr, Son=9yr (B) Father=33 yr, Son=10yr
(C) Father =34 yr, Son= 11 yr (D) Father =306 yr, Son= 12 yr
(E) Question not attempted

1 ad usel fUa w1 Y, I8P YA DI Y &A1 AT 0, ST T9 a6 T2 (U Bl 7Y I I DAY b &l A
T &1 a9 SIfie BT | I S S T 7

(A) Frar=32ad g@=9ad (B) frar=33ad, ga=10ad
(C) frm=34af, ga=1139¢ (D) frr=36ad g =129
(E) ergaia ued

3 Suresh lent a sum of money on compound interest in such a way that it amounted to three times in
4 years. For how much time should he invest his money so that he gets back an amount which 1s
O times of the sum of money lent by him?

(A) 8yrs B) 9yrs
(C) 10yrs (D) 12yrs
(E) Question not attempted

LT A Hg =TS T T T 5T THTT SUTT &, 76 T8 4 99 o 99 770 2 Sneeh | o fepery |orey & g, aroeti
T B Frere & ey At SY SHE FT0 SUTT & TS T H 9 I AT 2 7

(A) 839 B) 9=«
(C) 10 a9 (D) 12=9
(E) st we

18 @ 0 2 PTO.



A shopkeeper marks the price of three identical articles, first, 60% above the Cost Price; second,
45% above the Cost Price and the third, 40% above the cost price. If he gives discount of 25% on
tirst article, 20 % on the second article and 15% on the third one, what is his overall profit percentage?

U FHMAIR UM T TEIHT H1HE, U5l 5 o & 60% 14, TH 39 q5d | 45% Nfei s dE i
TR H 40% a1 oifea 53 ¥ | aft a8 vedt w/g W 25% Y, T a5 I 20% B SR dre g ™ 15%
% B2 IAq &, T STH F A1 I ;M E 7

2

(A) 162% (B) 17.5%
Lo

(C) 18% D) 19%

(E) Question not attempted / STARE AT

,

]
A group of tourists from Australia visited New Delhi for sight-seeing. On a particular day, —  of
J

them visited Qutub Minar, four times the square root of the total number of tourists visited Red Fort
and the remaining 18 tourists were seen walking on the Kartavya Path near the India Gate. What 18
the total number of tourists who went out for sight-seeing on a particular day?

ST 4 et e e g e o 1 o e ot i < g ¥,
el I HEAT % W B A A1 A1 fhat A S e 9w 18 weieen 3ian e % Tordi died e T Zeed
g faw) w9 fafirse 7 wieq 3q ga s wies a7

(A) 81 B) 75

(C) 69 D) 64

(E) Question not attempted / ST U9

A man travels from point A in one state to point B in another state by a train moving at a speed of
90 kmph and he returns to the starting point A by another train moving at a speed of 72 kmph. What
was the average speed of the trains for the whole journey.

uF AR 90 kmph B TG @ 0% T % ARG ¥ T 59 & B {3 7% @RI ¥ A1 @ § oY 98
72 kmph %} 7 & &7 TS T JEAA g A T AT S % | HYOT A % o et # sfrad i e
B

(A). 84 kmph (B) 82.5 kmph
(C) 81 kmph (D) 80 kmph
(E) - Question not attempted / S U9

18 @ 0 3 PTO.



7 A sum of Rs. 81,270 is divided among P, Q and R in such a manner that it Rs.75, Rs. 90 and Rs.105
are subtracted from their amount respectively, the ratio of their amount becomes 5: 6: 7. How much

amount does P receive?

(A) Rs, 24,500 (B) Rs. 22,575
(C) Rs, 20,500 (D) Rs. 18,750
(E) Question not attempted

%, 81,270 =1 P, Q afX R & we 31 wepte Ferifona fepa wman & o6 @ty o=l fs1 9 6904m: &, 75, . 90 &
&. 105 =@ Wl & ot Sl Ul B S S: 6: 7 81 < &1 P i ety wiiyn vy & & 2

(A) & 24,500 (B) %.22,575
(C) %.20,500 (D) %. 18,750
(E) ergaia ued

8 Ina AABC, LC =(9/4) /B =(3/2) (LA+ 4£B). Find the measure of the angles.
AABC & £ZC =(9/4) ZB =(3/2) (LA +2£B) %, 1 %Il &1 |49 370 SifTw)
(A) ZA=18° /B=36° ZC=126° (B) ZA=20° /B=40° ZC=120°
(C) ZLA=22° ZB=44° LC=T114° (D) LA=24° LB=48° ZC=108°

(E) Question not attempted / ST AR U

9 The average score of marks of students of classes XI-A and XI-B in Mathematics 1s 86.5. The
average score of marks in mathematics of students in Class X1-A is 91 and in Class XI-B 15 81,
What 15 the ratio of the number of students of Class XI1-A and Class XI-B?

T ¥ e X1-A &fit X1-B % faenfiat & aret ofe! @1 airaa 86.5 & | 1w o wen XI-A % faefiat % ura
il T Sfea 91 97T wam XI1-B % ferenfiraf & wre st &1 ofrea 81 % 1wan X1-A oiix et X1-B % feenfat
I TN 1 AT HT & 7

(A) 141 (B) 13:10

(C) “11:9 (D) 10:7

(E) Question not attempted / STARd AT

18 @ 0 4 PTO.
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12

One contractor had undertaken a construction work. To complete the given job, he sought labour
comprising 24 men for 12 days for working 10 hours a day. But due to festival seascn, as the labour
had gone to their respective hometowns, he could get only 15 men and they too were willing to
work 8 hours a day. With this much labour, in how many days would he be able to complete the
same job?

(A) 20 days (B) 22 days

(C) 24 days (D) 26 days

(E) Question not attempted

TF SHATT BT (AT B A FA ¢ | RE MR B Q0 #0 F MU A &7 109 ™ e &g 1270 &
T 24 Y&l =i GRATT TR0 ST & | © (e BT o B0 HSIg L AU 719 el ST &, SBart &l &ad 15 76y
1 it Ol 2 o 3 Ui R 8 5 &1 % S ared € |37 Weigl & W 9€ o9 B & R At | qof wem ?

(A) 20T (B) 22f=
(C) 24f= D) 267
(E) ergaia ued

A dealer bought a six-seater Dining Table after getting successive discounts of 15% and 12%.
Thereatter, he spent 10% on transport, etc. and finally sold it tor Rs. 24,169.75, thereby earning a
profit of 25%. What was the marked price ot the Dining Table?

(A) Rs. 22,750 (B) "Rs. 23,500

(C) Rs. 25,100 (D) Rs. 26,750

(E) Question not attempted

TRl ST 15 % 3T 12 % %1 shiHE 92 U0 UH BE HIZ AR S (47 2o Gl | 36 a8, I8 uias Al
T 10% T foran ofiT e 39 %, 24,169.75 % 3= faan o 25% @ sttt foma | Zrg T et o1 affopat 7t
E 1R

(A) %.22,750 (B) %.23,500
(C) . 25,100 (D) %.26,750
(E) ergaia ued

Water 1s flowing at the rate of 12 km per hour through a pipe of diameter 14 cm into a rectangular
tank which is 60 m long and 33 m wide. Find the time in which the level of water in the tank will
rise by 28 cm.

(A) 2hrs (B) 2.5hrs
(C) 3 hrs (D) 3.5hrs
(E) Question not attempted

60 m @9 &MY 33 M AR UF AEAER <6 H 14 cm =9 919 9 ¥ 12 km i 92 9 X 9 9 gantEd € @
3| 9% 99 T BT, By 6 9 Sie @ &Y 28 om 9¢ S|

(A), 2 B) 259
(Cy 3= (D) 3.5%
(BE) - orgaiia g

18 @ 0 5 PTO.
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14

The compound interest on a certain sum for 3 years at 8% per annum i1s Rs. 1,94,784. What is the

9
simple interest on the T part of the sum ftor the same time but at a rate of interest per annum which

L]
1s 15 time the rate of interest per annum as applicable for compound interest?

(A) Rs.2,43,000 (B) Rs. 2,47,500
(C) Rs.2,52,000 (D) Rs. 2,56,500
(E) Question not attempted

9
8% @I 1Mo 3T W 3 9 & fom fre vt e agfs =9 5. 1,94,784 5130 Uiy & o M O T rafy

1
% oo i whgls AW X & '15 T 2 Y TN 1 /T E0L

(A) %.2,43,000 (B) %.2,47,500
(C) %.2,52,000 D) %.2,56,500
(E) am<iid s

A sum of Rs.1,48,000 was distributed among 4 employees namely Arun, Bipin, Chetan and Dheeraj
such that Bipin gets 20% more than Arun and Chetan gets an amount equal to 50% of the sum of
what Arun and Bipin get. If Dheeraj gets Rs. 40,618, what is the difference in the amounts received
by Bipin and Chetan?

(A) Rs. 2,860 (B) Rs. 3,020

(C) Rs. 3,254 (D) Rs. 3,440

(E) Question not attempted

%. 1,48,000 37 a0 & 4wt STy, e, 2 ofie e § Ry o e e fafte @6 e
T 20% HThe W FU SR T Bl SET ST T B wr g2 Uit % 50% & atET Uiy wrd g2 | A g
B T. 40,618 9T §T, T FaftF offT I 20 o i ¥ AT mnE v

(A) %.2,860 B) %.3,020
(C) % 3254 (D) %.3,440
(E) orgafe ued

If 6 times the larger number is divided by the smaller number, we get 7 as quotient and 7 as remainder.
Also, 1f nine times the smaller number is divided by the larger number, we get 7 as the quotient and
21 as the remainder. What are the two numbers?

(A) 36and3l (B) 38and 33

(C) 40 and 35 (D) 42 and35

(E) Question not attempted

I 21 FEa1 % 6 T Bl B gea  favisa foan Sian &, a1 € 7 TR ST 7 W U & & | 9 &
afe B dea % Y I Bl g1 wean & Tyarhora fman s & o w6 7 vnTee ofiT 21 Juwhe W BT § | 98 &
HETd HiA—A & 7

(A) 36 &t 31 (B) 38air33
(C) 40 &35 (D) 42335
(E).. srgaiia ue

18 @ 0 6 PTO.
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1
The present age of a father is four years more than 25 times the age of the son. Five years hence

tather’s age will be 5 years more than twice the age of the son. What are the present ages of the
tather and the son?

(A) Father =34 yrs, Son= 12 yrs (B) Father =33 yrs, Son=11 yrs

(C) Father =32 yrs, Son =10 yrs (D) Father =31 yrs, Son =9 vyrs

(E) Question not attempted

1
o =1 TR o1y, g # 3g % ZEgﬁT@ranaﬁmﬁtﬁ%w‘haﬁaﬁﬁmaﬁmg,gaﬁm%ﬁw
H 5 Ao sAiues 3 | T 3T g1 1 acHE Sy 7 i

(A) =347 ga= 124 (B) frar=33ad ga=11a9
(C) Frar=32ad ga= 104 (D) fuar=3)a, g =9 =
(E) ergaia ued

Anjali and Sanjana have some marbles with them. If Sanjana gives 15 marbles to Anjali, Anjali
will have 10 marbles less than twice the marbles with Sanjana. If Sanjana gives 40 marbles to
Anjali, Anjali will have 20 marbles more than three times the marbles with Sanjana. Find the
number of marbles with Anjali.

FHSTAT BT TS & U TS &l © | TS o 15 el STl &l <l &, Y SISl o 91 |orl & sl & & J1 9
10 e %A 1 | i HT1 40 ) 3iSTell &l 3l 3, T SiSTell o UTH S0 & el b i A1 § 20 e A4 3id |
fTell & U feha & 3 7

(A) 110 (B) 105

(C) 120 (D) 115

(E) Question not attempted / SR A7

Rajender engages Sunil and Vijay to do some construction work in his oftice. Sunil is highly skilled

1
and 1s 35 times as good a workman as Vijay. Therefore, he is able to finish his work in 45 days less

than Vijay. In how many days they both working together, can finish the work?
(A) 26 days (B) 22 days

(C) 18 days (D) 14 days

(E) Question not attempted

ol T ST o gt ot fowma #1 o Trafor s fean | g s $are & ofit oo & 3% NALETIS
HIHT & | SHO 97 R § 45 i 1 o F oo ol ot /1 N 9em ¥ 9w 3 ue wn P v wed

4 HE B e oAt o qof oY T & ?

(A).26 T B) 22f=
(C) 18Ffm (D) 14f=
(E) argaid ugd

18 @ 0 7 PTO.



Q. 19-21 : Fill in the blanks in the given sentence/paragraph logically using the appropriate set of words

trom the four options given below the question.

19  There is much difficulty getting this place and it i1s not possible to reach

without the grace of God.

(A) In; to; here

(B) for; to; it

(C) to;into; it

(D) in; near; here

(E) Question not attempted

20  Nature is and unchangeable, and it is as to whether its hidden reasons and

are to man or not.

(A) relentless, indifferent, actions, understandable

(B) persistent, heartless, actions, comprehensible

(C) inexorable, apathetic, activities, explicable

(D) harsh, indifferent, actions, understandable

(E) Question not attempted

21  Despite being perceived as by all, the club members unanimously decided to

Arun, a skinny teenage with prominent . as the member of the year, so that the whole

affair would be to Arun’s father who was recuperating afier a sericus illness.

(A) useless, award, presence, helpful

(B) cruel, tacilitate, nose, happy

(C) - uncooperative, reward, teatures, recuperative

(D) “reckless, felicitate, eyes, soothing

(E) Question not attempted

18 O

8 P.T.O.



Q. 22-25 : Coding-Decoding

22 BLOCKED is to YOLXPVW as OZFMXS is to -
BLOCKED &l YOLXPVW fe@n wirern &, f OZFMXS @i o feran s 7
(A) RESULT (B) NAUGHT
(C) LAUNCH (D) LABOUR
(E) Question not attempted / S U9

23 USPListo KMPT as LIGC isto -
USPL & KMPT feran siman ¥ @ LIGC @1 @ ferar smaem ¢
(A) BDGK (B) CEHL
(C) GHIJ (D) QSUW
(E) Question not attempted / STARE AT

24 THEREFORE is to TEEOERFRH as HELICOPTER is to -
THEREFORE & TEEQERFRH fear s & ot HELICOPTER @i w1 T s ?
(A) HEUCORETP (B) -HLCPERTOIE
(C) RETPOCILEH (D) 'RETPOCILHE

(E) Question not attempted / STARE AT

25  RATION is to RATNIO as TRIBAL is to -
RATION & RATNIO feran =iman & & TRIBAL @Y =1 feran smem 7
(A) TIRLAB (B) TRIALB
(C) TIRLBA (D) TRILBA
(E) Question not attempted / ST T97T

Q. 26-28 : Fill in the blank choosing correct answer from the options given below :

26 ACEG :DFHJ:: QSUW .
(A) KMNP (B) MNPR
(C) TOQST (D) TVXZ
(E) Question not attempted

27  kcaC : Cack :: XgmF ! ...
(A) EmgF (B) EgmX
(C) FmgX (D) GmeF
(E) Question not attempted

28 EGIK : FILO :: FHIL : ...
(A) . GIMP (B) GMIP
(C) JGMP (D) IGPM
(E) Question not attempted

18 @ 0 9 PTO.
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33

In a certain code, 247" means 'spread red carpet’, 256" means 'dust one carpet' and 264" means
'one red carpet'. Which digit in that code means 'dust'?

Tepell Tifyaa @i @, 247" %1 &1e 'spread red carpet’, '256' @1 &1ef 'dust one carpet' 30T '264' @1 3¢
'one red carpet’ ¢ | a1 I8 IS ¥ forg i %1 oref 'dust’ sm?

(A) 2 B) 3

€y s (D) 6

(E) Question not attempted / STARE AT

In a certain code language, '123' means 'bright little boy', '145" means 'tall, big boy' and '637' means
'beautitul little flower'. Which digit in that code language means 'bright'?

gy tifyma ®e wmom ®, 123" @ aref 'bright little boy!, 145" @1 atef ‘tall, big boy' 8fiX '637" w1 aref
'beautiful little flower' ¥\ @ 3T ®is v ¥ {59 &f® =1 aref 'bright! g m?

(A) 1 (B) 3

(C) 4 (D) None of these / 377 o H§ T8l

(E) Question not attempted / STARE AT

In a certain code, '256' means 'you are good, '637° means 'we are bad' and '358' means 'good and
bad'. Which of the following represents 'and' in that code?

fenht ffyaa ®ie o, ‘256 @1 aref 'you are good', '6377 %1 31¢f ‘we are bad' &t '358" &1 atef 'good and bad'
T\ T TET AT H HA—T 8 ‘and’ AT 8 ¢

(A) 2 B) 5

€y 8 (D) 3

(E) Question not attempted / STARE AT

In a certain code language, '123' means 'hot filtered coffee’, '356' means 'very hot day' and '589'
means 'day and night'. Which digit stands for 'very'?

g ffyaa @ o o '123" %1 @ hot filtered coffee’, '356" 1 @19 'very hot day' fiT '589 1 aref
'day and night' % | & 391 ®is o791 ® {59 &% & atef 'very' @7

(A) 9 (B) 5

(C) 8 (D) 6

(E) Question not attempted / STARE AT

In a certain code, “256" means 'red colour chalk!, '589" means 'green colour flower' and 245" means
'white colour chalk'. Which digit in that code means 'white'?

(A) 2 B) 4

(C) 35 (D) Can't be determined

(E) Question not attempted

Tl Tifyea ®i o, '256' @1 o1 'red colour chalk', '589' @t a1 'green colour flower' 31T '245" @1 3¢
'white colour chalk’ % | Gt SHi s § g of & o1¢f 'white' €Fm 7

(A) 2 B) 4
(C) 5 (D) feifya =&t e s wepan
(BE) - orgaiia g

18 @ 0 10 PTO.
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36

37

In a certain code language, '526' means 'sky 1s blue', '24' means 'blue colour' and '436' means ‘colour
is fun'. Which digit in that language means 'fun'?

fenait Ffyera @ie wman o '526" @1 aref 'sky is blue’, '24' @1 31¢f 'blue colour’ @i '436' @1 3¢ 'colour is fun'
%\ 4 3 Hr W 7R @i w ared fun' @Y

(A) 5 (B) 4

(C) 3 (D) 2

(E) Question not attempted / S U9

Pointing to a man on the stage, Rita said, "He i1s the brother of the daughter of the wife of my
husband.” How is the man on the stage related to Rita?

(A) Son (B) Husband

(C) Cousin (D) Nephew

(E) Question not attempted

e T Rl SRt @1 oY ST d g, S 7 e, T T Ol i Te ® OE @ R & W T SURd e
& O G A & 7

(A) g (B) |fx
(C) ==« (D) it
(E)  orgafed 991

Showing the man receiving the prize, Saroj said, “He is the brother of my uncle's daughter." Who is
the man to Sarg)?

(A)  Son (B) Brother-in-law
(C) Nephew (D) Cousin
(E) Question not attempted

T I &L T8 ST & [GaTel g9, T HEl, T8 A Siohet ol T & S ¢ | 30 e o1 aast o
HeE & 7

(A) o (B) sat—g-l

(C) s (D) ==ra W

(E) oraied aed

E is the son of A. D 1s the son of B. E is married to C. C is B's daughter. How is D related to E?
(A) Brother (B) Uncle

(C) Father-in-law (D) Brother-in-law

(E) Question not attempted
E, A& gD, BHI g ¢ | E v foams C @ gan €1 C, Bl G 31 D &l E & a1 defey & 7

(A) g (B) sl
(C) wRT-—gT—af (D) FECFT-A
(B) sratea get

18 @ 0 11 PTO.
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39

40

Seven men A, B, C, D, E, F and G are standing in a queue, one behind the other in that order. That
18, A 1s first in queue while G brings up the rear. Each of them 1s wearing a hat of a different colour
of the rainbow - Violet, Indigo, Blue, Green, Yellow, Orange, and Red, but not necessarily in that
order. 1t 18 also known that:

. D can see in front of him green and blue hats, but not the violet hat.
. E can see violet and yellow hats, but not the red hat.

. G can see hats of all the colours except Orange.

. E is wearing the Indigo coloured hat.

What colour hat is worn by F?

(A) Red (B) Orange

(C) Blue (D) Violet

(E) Question not attempted

g =i A, B, C, D, E, F &R G % % 9% U5 39 %9 1 06 Ui 8 T2 & i A 9fm ¥ Tew 2 9T & 5als
G 99 Tise @I U= 3139 99 H Uld A 549 o (91 Gii—<w=1, 2, e, s, dien, r6Ei ot ame ari
2 UE QT ¥, AR F6 T R T wH 7 ¥ 9 o1 HE1 S e & 1

« D o R T S A9 2 3 gwan &, /i Sy )

«  E <71 ofiT dielt 2t & weean 3, wifehe o 2t 790

s G I B BEE a9 Al # 3 g &)

. E 71 i 11 @1 2y el g% %)

F = form 1 a0t 2t vl g2 &7

(A) <= (B) =rEn
(C) it D) i
(E) orgaid usd

Which letter is in the 125™ position in the alphabet series AABABCABCDABCDEABCDEE. ..
Trfofiaa & & #i9—ar eta auiamen e AABABCABCDABCDEABCDEF. .. % 1253 wiq ux 37
(A) B (B) D

(C) E (D) F

(E) Question not attempted / STTARE AT

A wall clock shows that the time 1s 3.00 AM. What would be the time after the hour hand rotates by
135° from that position?

T 3 Tl 3.00 AM 9 ¥ 52 A S F o9 Rafa ¥ 135° g9 % q9aa 99 /1w ¢
(A). 6.00 AM (B) 6.30 AM

(C) 730 AM (D) 8.00 AM

(E).Question not attempted / S U9

18 @ 0 12 PTO.



Q. 41-45 ; Read the passage and answer the questions that follow :

A and B’s three-year-old son, C, had been diagnosed with autism spectrum disorder a tew
months age. The parents are still letting the news sink in, meanwhile trying their hand at various
therapies. They are not vet sure what to expect from their child and what 1s the best they can do for
C’s betterment. One day, on his commute to work, A comes across a hoarding at a bus stop advertising
stem cell therapy as a cure for Autism at their clinic. Convinced with the umpteen testimonials on
the advertiser’s website, A and B decided to go ahead with stem cell therapy at the clinic despite the
fat price tags attached, unaware of the ethical and safety issues associated with the practice.
Unfortunately, C is not the only child at the altar of this experimental therapy. Many well-meaning
yet vulnerable parents who hope to find a cure for their beloved children’s condition are often soft
targets to this quackery.

Autism is a lifelong neurcdevelopmental spectrum disorder that affects a person’s
communication, learning, behaviour, and social interactions. We still don’t completely understand
what causes Autism, but it is well known that there is no cure for the condition. Evidence-based
therapies can help the child reach his full potential and lead a fulfilling life. Despite all the information
and outreach, certain practitioners claim to magically cure Autism and lure innocent parents into
spending all their life savings on procedures that are not only scientifically unproven but are also
potentially harmful. Stem cell therapy 1s one such fad. Stem cell therapies aim at regenerating or
replacing cells damaged due to disorders and diseases through clinical and laboratory methods. But
such processes have only been approved for treating certain types of cancers and other blood and
immune disorders. For a complex condition like Autism, there is no strong evidence for approval of
1ts use as a ‘treatment procedure’. In fact, in the face of the skyrocketing number of stem cell clinics
and advertisements that claim to cure ASD, the National Medical Commission (NMC) has announced
that the use of stem cell therapy in treating Autism is prohibited, and its promotion and advertisement
will be considered professional misconduct. Although such steps by the regulator of medical conduct,
NMC, is commendable, the predatory marketing and unethical practice in unlicensed clinics will
continue to inflict emotional and physical trauma on individuals with Autism, especially on the
population that cannot either consent to the treatment or advocate for themselves with any degree
of conviction.

An attitude change in caregivers and families 15 needed to halt the expansion of stem cell
therapy in the Autism community as much as regulations and legal framework are needed. If we
closely look at why the stem cell clinics blatantly lie about the cure and even are audacious to put up
king-size banners in prime areas of metro cities, we will understand that they prey on desperate
parents who wish to find a cure for a condition that doesn’t need to be cured. There are stories of
parents who have sold their properties, spent their last pennies on stem cell therapy, and ended up
rupturing their entire family’s financial and emotional wellness. Needless to talk about the trauma
on the individual, his/her loss of prime years in life which could have been well utilised for his/her
development and independence through evidence-based practices.

Sometimes it 18 heart-wrenching to see families that have faced separation and conflicts in
the aftermath. If you are a parent or a caregiver supporting a child with Autism, the best gift you can
give your child is acceptance and love and not a cure. It is time that their neurodiversity is embraced.
Families must educate themselves about the spectrum and spend their time, energy, and resocurces
wisely in practices that are grounded in science. You can seek help from reliable organisations that
are vehemently trying to bring awareness about evidence-based therapies in parent communities
through their various online and offline programs. An empowered parent is the best asset that a
child ‘with autism can ever have. If you are willing to take a step towards an educated and safe
journey with your child, then say “No” to quack therapies and “Yes” to empowered and informed
decisions.

18 @ 0 13 PTO.
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42

43

44

Which of the following statements about Autism is borne out by the passage?

I It is an incurable mental disease requiring evidence-based therapy rather than stem cell therapy.

1. It is a physical disease that cannot be cured but could be managed using evidence-based
therapy.

ui. It can be scientifically managed in a way that the patient achieves his or her full potential.

(A) 1 and ii (B) i and iii

(C) i only (D) ii only

(E) Question not attempted

Which of the following options 1s closest in meaning to the word “altar” as used in the passage?
(A) Variation (B) Foretfront

(C) Mercy (D) Platform

(E) Question not attempted

It is implied in the passage that

(A) 1t is easy tor quacks to lure gullible parents of suffering children into spending loads ot money
for the treatment of their children because of the increased media outreach available in these
modern times for the tormer to advertise their services.

(B) the NMC is only playing a passive role in educating and/or increasing awareness amongst the
parents of children suffering trom incurable diseases due to which they fall prey to quackery
and not only waste money but risk their children’s lives.

(C) The government needs to put in place the needed regulations to stop the spread of stem cell
therapy clinics in the country.

(D) It is not necessary to subject a child diagnosed with autism to any treatment as there is no cure
for 1t anyway, and the condition only needs to be managed scientifically to the child to live a
fulfilling life.

(E) Question not attempted

In the context of the passage “predatory marketing” specitically refers to

1. unethical efforts by unlicensed clinics to lure gullible parents to seek cures even for commenly
incurable conditions.

il.  the practices adopted by unauthorised clinics to edge ahead of their competitors in the field
and grab maximum possible patients.

iil.  the act of employing advertising or marketing strategies in medical field due to the absence of
stringent enough regulations against the same.

(A) 1only (B) 1 only

(C) il only (D) i, ii and iii

(E) Question not attempted

Which of the following statements about ‘evidence-based therapies’ implied in the passage?

1. These are meant to empower and inform parents of children diagnosed with autism spectrum
disorder.

1. . Awareness about such therapies 1s apparently not as widespread as stem cell therapy which 1s
even being advertised widely to serve commercial interests.

1. . Such therapies are any day better than stem cell therapy.

(A) 1only (B) ii only

(C) i1 only (D) i, it and iii

(E)  Question not attempted

18 @ 0 14 PTO.
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48

49

S0

Arun rows from A te B against the current in 8 hrs. and from B to Ain 2 hrs. If the speed of the river
1s 9m/sec., what 1s the speed of the boat in still water 7

FE A AT H G AT B T® 8 hrs § aiX B W A T 2 hrs o =19 =y & | af¢ 7287 1 7fa 9m/sec. &,
Al Rert S/t § AT i T A B

(A) 10 m/s (B) 15mfs

(C) 20 m/s (D) 25mfs

(E) Question not attempted / STARE AT

A train travelling at 25 km/hr, leaves Delhi at 9 a.m. and another train leaves Delhi at 35 km/h.
at 2 p.m. in the same direction. At how many kms from Delhi do they meet ?

U Tl 25 km/hr & T € 9 am. 9T el § Feperel & 1 Usb o TamEl g9 o § 35 kmy/h &t w1
Y 2 p.m. 9T e o Freped ¥ e o fhe kms #1330 91 F fr

(A) 437 km (B) 437.5km

(C) 438 km (D) 438.5km

(E) Question not attempted / S U9

A goods train runs at the speed of 34 km/hr and crosses a 110 metres long platform in 20 seconds.
What is the length of the goods train 7

T AETE! 54 km/hr #Y 71 O Sredt & 6T 110 Tex @3 7 Wewm & 20 T6he ¥ O Bl & | TRl &
SEEEIREIE

(A) 180m (B) 190 m

(C) 200m (D) 210m

(E) Question not attempted / STARE AT

P does ajob in 11 days while Q takes 12 days and R takes 22 days for the same job. P and Q) started
working together. But, after two days they left and R had to complete the job. Find the number of
days required to complete the job.

(A) 46/3 days (B) 49/3 days

(C) 52/3 days (D) 55/3 days

(E) Question not attempted

P forgit @ 1 11 T o e & < g9 @ B w6 % e Q ® 12 (i R &1 22 R @ 21 P 8fk Q
O T T T I B ¥ | A, A R 3 e B we A ¥ ot R o e a @ v ¥ Ve #
H o forg fopae Rl o amasTemar % 7

(A) 46/3 = B) 493 7=
(C) 52/3f= (D) 55/3 =
(E) orgafe ued

A tap can fill a tank in 45 minutes and ancther tap can empty it in 3 hours. If both taps are opened
at 11:30 AM, then the tank will be filled by :

TH A BT T w45 fre o T amar ¥ o U o T 3 3 uE o Wiel BT O%al &) O 31 T
11:30 AM W2 @iet Siid &, < 2! e T9 T 9T Sy ?

(A) 12:30 PM (B) 01:30 PM

(C) 02:30PM (D) 0330PM

(E) Question not attempted / ST U9

In 36 hours, how many times will the hands of the clock coincide ?
36 "2, feraeit A a1 @ gEar el ?

(A) 31 (B) 33

(C) 35 (D) 37

(E) " Question not attempted / S U9

18 @ 0 15 PTO.



Q. 52-55

Read the given information carefully and answer the following questions:

(i)  Eleven students Ravi, Vipul, Ketan, Jolly, Aabid, Salman, Dhara, Harlin, Nikita, Joy and
Vimal are sitting in a row of the class facing the teacher.

(i) Jolly, who is to the immediate left of Salman, is second to the right of Ketan.

(111) Ravi, s second to the right of Aabid, who is at one of the ends.

(iv) Joy is the immediate neighbor of Ravi and Vipul and third to the left of Dhara.

(v) Harlin is to the immediate left of Jolly and third to the right of Nikita.
Trer &1 7T WETH B S Ui ofiY Freifataa uset & sax S
(i) v Reemedt <, fogm, %am, s, onfys, oo, ama, sk, Siea, st ot o e o o sa

T firers @1 AR AT BTHT IS ¥

(i) S, S T &SIk 915 ST 5, A€ e P A0 § FH &
(iii) Ty, o & 3 € qEU E, 9 uE B U B
(iv) i, T oz fager & S ave & ¥ &l &y % 9 & ey ¥
(v) sfa, et & 3 91d ¥ ofiv ffear % ard & dew 3

52  Who 1s sitting  in the middle of the row ?
(A) Ketan
(C) Vipul
(E) Question not attempted
TR o A B Jor & 7
(A) o
(C) faga
(E) orgaftd wed

53  Who i1s sitting at the left most end 7
(A) Aabid
(C) Jolly
(E) Questionnot attempted
T YA BT T DM oI & 7
(A) amfas
(C) e
(B) srgafid we
18 O

16

®)
(D)

®)
(D)

(B)
D)

®)
D)

Nikita
Dhara

Ketan

Cannot be determined

Fraffa =& fran o gean

P.T.O.



54

h
th

Which of the following statements is true in the above seating arrangement?

(A) There are three students sitting between Jolly and Dhara.

(B) Dhara and Ketan are neighbor sitting to the immediate right of Harlin.

(C) Vipul is sitting between Joy and Nikita.

(D) Vimal is sitting between Ravi and Joy.

(E) Question not attempted

frrafarRad & & SF—1 B Iuda Jo7 B T H I H FA 5 7

(A) <iell SR g0 & a9 § O feenelf s €1 (B)  9m i %, 3ol o 3 ad av | 99 §)
(C) Taga, Sira &fix Ffdhan & S o <et &1 (D) femret, T oK < % dra 9 der §

(E) orgaid usd

If Aabid and Jolly, Ketan and Vipul, Ravi and Harlin and Vimal and Salman interchange their
positions, which ot the following pair of students is sitting at the end?

(A) Jolly and Aabid (B) "Aabid and Salman
(C) Jolly and Vimal (D) Vimal and Salman
(E) Question not attempted

Ty AT ST A1, FHad i Riga, T i Tk o e ofR gamm omoe o oo W 95 8,
il @1 R iad § § S I B R Eel & 7

(A) el 3iiR anfye (B) anfag &f wewe
(C) el oY feva (D) fawe & gewm
(E) orgaid usd

Find the related word from the given options.

Disease : Death :: Quarrel : ?

(A) Justice (B) Victory

(C) Peace (D) Restlessness
(E) Question not attempted

faq g faenedi ff @ defad o A Wiy |

T T 1 TSI ¢ 7

(A) (B) fa=rg

(C) 9 (D) grifer

(E) araiid s

18 @ 0 17 PTO.



Q. 57-61

Four families decided to go for a picnic to Jhumri Talaiva and agreed to meet at a place called Rani
ka Talab before moving for the picnic. One tamily has no kid, while the others have at least one kid
each. Amongst each family with kids, at least one kid goes to the picnic. Following is the information
about the families.

(i)  The family with two kids came just before the family with no kids.
(i) D who does not have any kids reached just before C’s family.

(111) P and his wife reached last with their only kid.

(iv) Q1snot B’s husband.

(v) Qand S are fathers.

(vi) C’sand A’s daughters go to the same school.

(vi1) B came before D and met A when she reached the fixed place.
(vit1) R stays farthest from the place and he 1s a good singer.

(ix) S explained that his son could not come because of exams.

AR qRER g aaar ¥ i s & Fofe @9 € i fsmte W e @ 9e T @ a9
T A A9 F & | 3T | OF U@ % qed Tel o, Saih o URETy B & § FY UE qo1 € I
fard ¥ o w9 T B U T s S €1 atErl & ¥ swwr FeEfaiad T

(i) = ==l aer 9REn, {1 St 9| aiEn & 9 9 o #

(i) D R @5 == T80 &, @8 C & 9 & dieh vee U= o |
(i) P o SHS! Il ST9 Sehelid S0l &% |1 o o ugad $1

(iv) Q,B 1 ufyq & ¥

(v) QafreSfymr ¥

(vi) C XA g us & @& | ¢ |

(vil) B, D ¥ Ugd 11 ¥ ok A% forean &, 9 o7 e e X wgad B
(viil) R 9 ©I9 ¥ 999 3T &A1 & &% 98 a7l T ¢

(ix) S =aw & foh SEH1 G TLien € @i w6 H TEl A1 gl |

Who amongst the females arrived third?

wfeTal & o A e e 7
(A) A (B) B
(C)y ~C (D) D

(E) Question not attempted / STTARE AT

18 @ 0 18 PTO.
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Which is the correct pair of husband and wife?
(A) SandD (B)
(C) QandC (D)
(E) Question not attempted

TR I I B e g HA-| 7

(A) Sa&rD B)
(C) QsirC (D)
(E) ergaia ued

Whose daughters go to the same school?

(A) QandR (B)
(C) PandQ (D)
(E) Question not attempted

ol gt o A e F A E 7

(A) Q&R B)
(C) PaRQ D)
(E) orgaid usd

Whose family has definitely more than one kid?

forer ufa & us @ arfies T=n 7
(A) R’s (R %) (B)
(C) Qs(Q%) (D)

(E) Question not attempted / STARE AT

Among the males, who arrived second?

qeut § § gAY B g ?
(A) P (B)
(C) R (D)

(E).Question not attempted / S U9

18 O 19

Pand C
Sand A

P& C
S st A

Pand R
Qand S

P #TR
QaM S

S's (S ¥)
P's (P %)

P.T.O.



Q. 62-64
Read the following information carefully and answer the questions given:
In a joint tamily of seven persons L, M, N, O, P, Q and R, two are married couples.

“R™ 1s a housewife and her husband 1s a lawyer. “N” is the wife of “M”, “L” 13 an engineer and 1s the
granddaughter of “R”, and “0O” is the father-in-law of “*N”, a doctor , and father of *P”, a professor.
“Q)” is L’s brother and M’s son.

et STl ® srgds uier o e T s % sy dfim

arg =t L, M, N, O, P, Q ¢fX R &% e qiam # 3t fyarfea =ie €1

“R” Tfeoft ¥ &R SeR i =i 1N, “MY &1 ot &, “L7 gt ¥ ofit “R” sl aie &, ofig “0” “N”
(3TereX) @ FET A “P7 (AHET) H o 21<Q7, L &1 Wig ofit M %1 97 )

62 How is P related to M?
(A) Son (B) Brother
(C) Daughter (D) Data inadequate
(E) Question not attempted
P& M ¥ w1 de 27

(A) T B)
(C) T (D) o 3
(E) am<iid s
63 How is Q related to O7
(A) Grandfather (B) Uncle
(C) Grandson (D) Data inadequate

(E) Question not attempted
Q& O F T T &7

(A) =T (B) =
(C) dwmn (D) e &2
(E) orgaid usd
64 Who is M’s father?
(A) O (B) R
(C) N (D) Data inadequate
(E) Question not attempted
M @t o B 27
(A)o. O (B) R
(C) N (D) auEfa g
(BE) srgaiia g

18 @ 0 20 PTO.



Q. 63-69

Study the following information carefully to answer these questions.

All the streets of a city are either perpendicular or parallel to one another. The streets are all straight.
Streets N, O, P, Q and R are parallel to one another. Streets S, T, U, V, W, X and Y are parallel to one
another.

(i)  Street N is | km east of street O.

(i1)  Street O is 2 km west of street P.

(iii) Street Q is 1 km west of street R.

(iv) Street S is /2 km south of street T.

(v) Street U is | km north of street V.

(vi) Street Wis 2 km north of street X.

(vii) Street Wis 1 km south of street Y.

FRTTRTRE ST ST e 96y ST A R 1 wedi & 39T i)

e W Tl o TE AL % wa9d 91 A ¢ | ges @ ¥ i1wsE N, O, P, Q ofiR R um-3@ F
T B 1|s® S, T, U, V, W, X iR Y T3t & gmial el

(i) TWEHENTHOFEHA | km¥|

(i) TwFO, THPHFurmm o L km T
(i) Te® Q, sH R & af@m 7 1 km ¥)
(iv) @& S, @s®h T% amd 12 km 3|
(v) weh U gsaVHIsaiH | kmzl
(vi) Tsd W, ds® X & sl d Y km 3|
(vii) He® W, @e® Y & o d 1 km ¥

If W is parallel to U and W 1s 4 km south ot V and 1 km north of T, then which two streets would
be 1.5 km apart?

(A) Uand X (B) VandS
(C) VandT (D) WandV
(E) Question not attempted

TRW,UFTIHGeE R W, VE IO kmEF T TH SO d Lkm e, Al sR-@ @ O5% 1.5 km
T E?

(A) UsinX B) Va&rs
(C) ViR T D) WarV
(E) omgaiea ued

18 @ 0 21 PTO.
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Which of the following possibilities would make two streets coincide?
(A) Xis ' km north of U (B) Pis 1 kmwest of Q
(C) Qis'2km east of N (D) Ris 4 km east of O
(E) Question not attempted

TR Rad # & SA—H HHrE &) S & e 607

(A) X, U%sH Ykm3 (B) P QHulmmH 1km3|
(C)y QO NFTE@H %km¥ D) ROFTH Y% km¥%)
(B)  orgafed us7

If street R is between O and P, then distance between N and Q is:
¢ @e® R, O iR P S | &, @l N ofit Q % s/ &l 1 31 i
(A) "2km (B) 1lkm

(C) 1.5km (D) 15-2km
(E) Question not attempted / STARE AT

If R is between O and P, then which of the following is false 7

(A) Qis1.75 km west of N (B) Pisless than 1 km from Q
(C) Rislessthan | km from N (D) Qs less than 1 km from O
(E) Question not attempted

IR R, O PF Fra ® ¥, af Frifofaa & 9 oF—a sraa % 7

(A) Q NHuymmd 1.75km¥| B) P Q¥ 1kmT HHF
(C) RNT1km¥HmE D) Q0¥ 1km¥Fq ¥
(E) orgaid usd

Which of the tollowing is necessarily true (given the basic clues)?

(A) Rand O intersect (B) Qis2kmeastof O
(C) Qs atleast 2 km west of N (D)} Y is 1.5 km north of X

(E) Question not attempted
Freffaa & o aF-W cTEEs FU 9 90 % (0 9%a R m E) ?

(A) RaROwiasiat) B) QOFTH2km¥)
(C) Q, N & ufyem o &9 & %9 2 km %) (D) Y, X&ITaH 1.5kmel
(E) oqafid us

Which of the following pair of number is different from other ?
Frafffaa d g e wrdengm e a = 3 7

(A) 13 91 (B) 17:119

(C) 19:131 (D) 23:16l

(BE)~ Question not attempted / STTARE AT

18 @ 0 22 PTO.



71  Find the next term of the given series.

&Y 715 SN BT AT UG S0 DI |

6.25,6.3, 6.4, 6.55, 6.75, 7

(A) 6.8 (B) 6.85
(C) 6.95 (D) 7

(E) Question not attempted / STARE AT

72 Select a figure from amongst the answer figure which will continue the same series as
established by the question figures.

T gl N { U U SR T aaT BT St W angptaat ¥ wenfie e #1 T @ g |

Question figures / 957 3pfaal
— 3 =
O|1Q|O|Q|©C
| Sa— S
Answer figures / Sa3 sl
= =
w | O ® |
e T
= =
o[ ke

(E) Question not attempted / ST & U9

73  Ifhouse is called market, market is called bank, bank is called hospital and hospital is called
post office, then-where do we go for shopping ?
(A) market (B) bank
(C) hospital (D) post office
(E) Question not attempted
TTE T BT IS HeT ST &, TSI Bl b HE[ ST &, Seb B AT BT ST & TUT SEAAA Bl
SHE HEN ST &, A1 &7 GUGETH BT Bl A1 & ¢

(A). =X (B) d=
(C) armdrd (D) =
(E) &qafid us

18 @ 0 23 PTO.



74

76

77

If TABLE 1s coded as UBCMEF, then in the same language CHAIR will be coded as -
gfs TABLE @1 #%g UBCMF ¥, a1 391 wror § CHAIR &7 %13 817 —

(A) DIIBS (B) DIBJS

(C) DIBRS (D) DICKS

(E) Question not attempted / STARE AT

Pointing to a woman a girl said, "She 1s the daughter-in-law of the grandmother of my
father's only son." How is girl related to woman ?

(A) Mother (B) Daughter

(C) Cousin (D) Daughter-in-law

(E) Question not attempted

% HIEAT B TIE ST HIA &4 AsHI F &1, “Fg AL fUq1 & sHAd [ B Tl B
T r [ TEH BT AR § T TEI 7

(A) =t (B) A
(C) ==rly w8 (D) =g
(E) orgafe ued

Read the information given and answer the question.
'PxQ)" means 'P 1s father of Q.

'P—Q' means 'P is sister of Q'.

'P+Q' means 'P 1s mother of Q'.

'P = Q" means 'P is brother of Q'.

In the expression A + B x C + D, howais C related to A ?

(A) Son (B) Grandson
(C) Granddaughter (D) Daughter
(E) Question not attempted

31 TE G BT TGHL UST Bl L AN |

PxQ wrared ¥, P, Q@ ® 0
PQa e, P QA gei® |
PHQ @ aid T, 'P, Q@ AT § |
P-Qwmared s, 'P,QaHTHAE & I
FdTEA+B xC+ DHECHAF T FT g s ?

(A) @ (B) ra

(C) drh (D) <&

(E) ergaia ugd

If Priya 1s the sister of the son of Rahul's son. How 1s Priva related to Rahul ?
(A) Mother (B) Daughter

(C) Granddaughter (D) Niece

(E) - Question not attempted

7 T, TR & 9 &% §< Bl I8 §, a1 1041, VA 9 16T THR 99ied & 7

(A) T (B) T
(C) urh (D) s
(E) - =qafid us

18 @ 0 24 PTO.
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80

81

82

In an examination, a student scores 4 marks for every correct answer and loses 1 mark for
every wrong answer. If he attempts 70 questions and secures 135 marks, the number of
questions he attempts wrong, 1s

e T ¥, U el &l udie 98 99l & 4 31 [y 90 € 91 Ude Tad oul % Wl 1 3w &H
H AT 1l T8 70 W97 5 BT & &7 135 3 v HLan 2, a7 389 fobay W9 o o ?
(A) 21 (B) 29

(C) 35 (D) 41

(E) Question not attempted / S U9

In a group of 1292 persons consisting of captains and soldiers is travelling in a train. For
every 16 soldiers there 1s one captain. The number of captains in the group 1s -

1292 =aferal w1 Us 98 e S ST 8 e €, U @ A B @l s 15T 16 Al &
7T % < ¢ | 998 | AT Bl e © —

(A) 70 (B) 78

(C) 80 (D) 81

(E) Question not attempted / S U9

a+l )
If —5— = 7, then the value of g 1s -
a’-1 3

a+1 1
2_]=§,a“raih‘rm=r%—
(A) S (B) 6
1
(C) 4 (D) 5

(E) Question not attempted / ST Tg

From the following, choose that which is different from others.
(A) Pear (B) Apple

(C) Guava (D) Orange

(E) Question not attempted

Frefafaa & 9 59 &1 ghm =1 oy & fa=1 2
(A) =TeTaTa (B) ¥m
(C) smEe (D) Haa

(E)  orgafe 99

Find the mirror image of the given figure.

&1 T8 ST ieT BT TUOT Wi Sid Hifey |
234E

), ST ® pTS
© oL o pEL

(E) " Question not attempted / STTARE AT

18 @ 0 25 PTO.



83 Replace the question mark sign (?) by observing the pattern.
Bt &l de 5g ued faga () @1 faenfa #ifsg

© B @
(A)@ (B)

(€) (D) @

(E) Question not attempted / S U9

84  Choose the correct mirror image from answer figures of the given figure.

& E angia % iy IR el ¥ @ Sy i wfafe g

Answer figures (ST 3Tfei)

o a__
@ | ® | Do

O | O
©) 5 o) [Nk

(E) - Question not attempted / S U9

18 O 26

P.T.O.



85

86

87

88

Find the odd one -

T 1 Fa AT —
(A) 36 (B) 49
(C) 121 (D) 1000

(E) Question not attempted / S U9

In the given figure going from P to Q only on the lines and taking the least length of path, in
how many way one can reach ?

&g T fom o T TEret T w9 ¥ B9 U § 9o g P ° Q T% A UhK § U5 d Wb & ¢

p
Q

(A) 2 (B) 4

(C) 6 (D) '8

(E) Question not attempted / STARE AT

A man i1s performing yoga with his head down and legs up. His face i1s towards south. In
which direction will his right hand be?

(A) North (B) South

(C) East (D) West

(E) Question not attempted

we At A1 B T qem 3R 0T s AR T @1 | ST Y Sl @l 31§ | sHa i Y
forg faom o BT 2

(A) T (B) faor
(C) (D) ufvem
(B) orgaie g

Aditya walks 50 meters toward West. He turn right and walk 50 meters. Then he turn a left
and walks 50 meters. Now, Aditya 1s in which direction from the starting point ?

(A) North-East (B) North-West

(C) South-East (D) South-West

(E) Question not attempted

e 50 HizX aided %1 T dwan & | a8 TRl S g3a1 § &Y 50 W a1 @ | &9 98 96} &
Todl ¢ ST 50 HeX Iaan & | 379, e qkas g & fopw feemH 82

(A oo (B) wa-—uived
(C) afror—gd (D) =fqur—afyy
(E) - qafid us

18 @ 0 27 PTO.



89

92

91

If 13 + 5 =06 and 34 + 8§ = 14, then the value of 8 + 7 15 —
AT I3 +5=6R34+8=14, TWE+7HATE —

(A) 3 (B) 4

(C) 5 (D) 7

(E) Question not attempted / STARE AT

Solve the following problem and choose the correct option.

Fr=rfefiad aoe &1 &0 I qo1 9el faemed &1 a9+ &g |

J=D_,
3
U-K _,
2
-k _,
5
(A) 3 (B) 4
(C) 6 (D) 7

(E) Question not attempted / STA@ AT

Four people were painting a house. Mohan and Kishan were painting on front and back
sides respectively. Napit and Raj were painting on the left and right sides respectively, on
seeing from the front. After 2 hours, Mohan replace Raj, Raj replace Kishan and Kishan
replace Napit. Now who is at back side?

(A) Mohan (B) Kishan

(C) Napit (D) Raj

(E) Question not attempted

R AT Teh 8 9L U2 H{ 18 & | |ieT qun ey saen: ame aur fie &) on o 42 sy @ o | it
T ST ST ST 47 T fEem (WM € S8 1Y) X U2 & & 91 2 52 905 1161+ U &1, U 7
et @1 e fmer 3 i @1 T o ot | ot AR e @ e B & 7

(A) e (B) e
(C) it (D) =
(E) . arIafed ueT

18 @ 0 28 PTO.



92

93

94

Select the figure which fits exactly into the given figure to form a complete square.

ST Bl ORI I & 7T i 7 e The 81T U o7 o il & |

M

N

(A) (B)

(©) \l\r (D)

(E) Question not attempted / STARE AT

Select the alternative in which the specified components of the question figure are found.

39 Tqaer &1 = sty faaet el ) wem ot & fafdm e fima &)

4 @ 4]

A

& 4 ? H

T ATH
(A) 1 ® | 4

& S

A Ty
© |27 ® |4 A

(E) Question not attempted / ST U9

If the following figure 1s fold to form a cube, then which symbol will be opposite to @ ?
Tig Fieiiaa STEpTT Bl HISeHL U A9 S9™l oY, af (@ & fadd & 91 faes srm 7

$1# 1 F

)

X
B

i

(AN (B) $
(C) # (D) 2T
(E) - Question not attempted / ST U

18 @ 0 29 PTO.



Q. 95-97

Study the following informations carefully and answer the questions given below it.

Alok and Parth like tea and milk, Deepak and Aditya like coffee and shake, Vijay and Parth
like juice and milk. Aditya like coffee, milk and shake, Deepak like tea, coffee and juice.

frefafad garmeii ®1 erqds ufew g i fig T ysat & o difag |
3TRTR ST T < AT 54 THE B & | 319 ST SR B! 97 97 T6 B & | o1 a7 red 574

TN 58 THS H T | S BB, 5L TAT 9% T89S HLAT & | G19% =0, BI%! Q1 [ THE BT 2 |

95  Which of the following do not like milk ?
(A) Parth (B)
(C) Aditya (D)
(E) Question not attempted
Prerfifia & & 2 ga wiT T8 Fe d 7

(A) e (B)
(C) enfes (D)
(E) oraied aed

96  Which of the following do not like juice ?
(A) Vijay (B)
(C) Aditya (D)

(E) Question not attempted

P & ¥ B ST TS T A 7

Deepak
Vijay

Parth
Deepak

e

Parth

(A) T (B)
(C) snfed (D)
(E) am<iid s
97  Who like tea, shake, juice and coffee but not milk ?
(A) Deepak (B)
(C) Aditya (D)

(E) Question not attempted

Vijay

B AT, §1%, S[E q4T BB IHT BT & 6w 30 &l 7

(A). g (B)
(C) aricd (D)
(B)- ergaiea 997

18 O 30

uTef
faea

P.T.O.



98

99

100

Which of the following group of numbers is similar to (3, 13, 23) ?

™ |}

Frfefiad & o & wr s 9ge (3, 13,23) % ga & 7

(A) (5, 15.25) (B) (7.11, 15)
(C) (9, 19,29) (D) (11,17, 29)

(E) Question not attempted / STARE AT

Choose the correct alternatives.

Teacher : Education :: Farmer : ?

(A) Field (B) Crop

(C) Plough (D) ' Trrigation
(E) Question not attempted

el faeeT &1 A B

Aeges ; ferer o feETT s P

(A) ©a (B) woa
(C) =@ Tl (D) o=
(E) oqafid usd

Select the appropriate number from the given alternatives :

& T faqeedt # | sfaa st ghm
M>xN:14 <13 :G=xV:?

(A) 7 x22 (B) 22x7
(C) "8.x 21 (D) 21x8

(BE) Question not attempted / STTARE AT

18 O 31

P.T.O.



SPACE FOR ROUGH WORK / T% &M & fea e

18 O 32



